X
iy
o

&
o
N

X
iy
o

&

= C A C
€ F c F
AOASE e S0.15 - tp-
=S E z E
pS) Eo b O A | RS DR W § N I S,
° 0.1: v 0-1:
0.05F--|-f-z---=--1 - Hg -t 1 -2 0.05F-----f- {2 fF - ff - ov e
0:— ------------------------- 0:— -----------------------------
~0.05F |-t -5-ee+ 181 EEERRRR) R 0] e N 1 SRR
SO0 R 1 S PPUR EXF R B 1 | EECRRRORPRC] FEPRS 0% REPCRE (01| COPPEIPS FRUR: B 1 08 | ERPORP ERES

Al
il R GG
0

-1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
o

A 1

||||||||I|III
Ratio

o
==
=
=

|
w
|
N
N F
|
=

_T11_original_Tow

—— DQ — Ft
—e— DOQM_TT newbranch_lowpt

—— DQM_TT original_lowpt_pLess
—— DOM_TT newbranch_lowpt _plLess

E%% : T EYETTHTTIN TR
= 80 S E Ml = 8011 T
A F : : : 1. A F H K : :
2 60| Hf 1wl E Al NV R > 60 M 11| g T
o L F LLELILE L : o o] AL
v 40F T L ; v 40 fl:' I 1]
2o 11| il it zof--—- M AL AT 0
of A of- {0t
20f I T PS8 g
aof LT aof--—-| TR e
sob-- [t AT SO 11 3 A 0
-sof- e -sof-—{ 4l -
O_lOO:|||||||||||||||||||||||||||| O_loc:uuuui||||i||||i||||i 41
T oAb 1 1 R e £ ¢ |l !
o> F 'l [ J N R o> F IE : IE 1
2: IIILIII il (L L1 2: L | ll
b R T T TR T T
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA: to beamline) TP n (PCA to beamline)

<op/p.> (%)
O = N W N O

iy

2 1 0 1 2 3
TP n (PCA to beamline)

(k=]

|
N
(ON R R R LR R RNl RRR R RRRRN LR RN AR R AR RARRN LRRL



	Contents
	Page 1


